ﬁ

BUTEX Admlssmn Test 2007-2008

01. 3 f(x)=x> g(x)=x>+1, h(x)=x+2, x =3 =, 5 hogof i =9 @ re I, gof = fog |

TY: st Part 2nd Part
hogof = h[g{f(x)}] gof =g {£(x)}

- =h[g{x*}] = g{:ﬁ}': (xz): +1=x°+1
=h[(x2)’ +1]=h|x® + 1] fog = fig(x)} =f {KJ - 1}
=x"+1+2 =x°+3 =(x3+1)2=xﬁ+233+1

~ hogof (=3) =(-3)°+3 [vx=-3] | .gof=fog [Showed]

=729+3 =732 [Ans.]
02. 5x—x%—-6>0 T, X 99 9 R e
T x° ~5x+6<0 9, x2—3x—2%x+6<0
qA, X(x—-3)-2(x—-3)<0 7, (x-3) (x—2)<0

T (x—3) (x—2)

x<2 — 0 3t -
2<x<3 - +

x=>3 03+ +

e sy ¢ 2 <x <3

Fre < >

0 1 2 3
. N - 01 &t
03. & <93 251nﬁ=251n11 15 =\/2—\/2+\E

| -
FAAIYIF: ZSIHE 225111 \/{I COS— ] 2{:{}% =\/2—-J2.2msz-;—:

\/ ‘/ 1+¢;;.5_ \X \/2+2cﬂs— —JZ \/2+«f_

WA, [ J _(“ 130) =11.25° =11° 15’
16) 16 m

.‘.25in%=25in11”15=\/2—\/2+\/E (&frs)
04. aﬁmﬁmﬁtﬁﬂww X - e = s a3 (1, 1) R o o @R T & QU e

X+y=3 @ TR S |
Ty 4T grew &g (h, k) . g =k
I, /(h—1)2 +(k—1)2 =k at, h? =2h+1+k? — 2k +1 = k>

q, h* =2h=2k+2=0................... (i)
@5 (h, k), x+y=3 @< C7 91(F© |
~h+k=3 3, h=3-k.u....... (i1)

B 0 e —



BUTEX 2=<Ties ﬁ@

L T

()= (B-k)*-2(3-k)—2k+2=0 a1, 9—6k+k?>—6+2k—2k+2=0 1, k2 —6k+5=0
T, k* ~Sk—k+5=0 7, k(k—5)—1(k—5)=0 t, (k—5) (k—=1)=0 ~ k=15
(i) >h=2, -2 cHeuwseswt| - &5 (2, 1), wE0E =1
TSI (x—2)° +(y—1)% =1% A, x? —dx+4+y* -2y+1=1
[, x°+y? —4x—2y+4=0 (Ans.)
05. = Fmew log, x s wediead 34
T 4f, £(x) =log, x =log, exlog. x; f(x+h)=log, exlog, (x+h)

lim f(x+h)-f(x) d

Iim Jog, exIn(x+h)-log, elnx

d
So—1(x) = 3 log, x =

dx *) h—0 h ix 2 T ho0 h

h h 1k 15___]

_ Im Jog, e{ln(x+h)—Inx} lim Iﬂg“em[pr;] » lim (;_Ex1+3 x>

h—0 h “ho0 h %% 50 h

Iim (1 1 h 1h? 1

=log, e —— e =(log. e)— (Ans

1
06. (i) % e o, et y = /2202 (i) s et [ y(1-y)dy
0

: ] i .
FigE: (1) y=eé1ﬂ{mz£) .'.d—yze%h(t L) ] secz(z-\/;).Z—l

_ 1 sec2(2\/;)e}él““anzm

dx "2 tan 2% 2%

: Ans.
27 Ixtam2dx (Ans-)
(ii) 49, 1-y =z S—dy=dz 9, dy=-dz
y 1 0
74 0 1
0 1 01 0 3 = 0 S+ 0
—I (1-2)z% dz =—I zzdz+_[ z2dz =_| 2 i | &
I 1 | l_[.] §+1
L2 11 L2 11
- 370 - 570
__2 % 2( 2 :E_E :i Ans

07. @36 TREACAT ST (19 8 G T ferariier TUaer Q @ P e w2l o9 71 eves W SHET I
IZTST o9 BT FFT AR AT 1 g T4 T, W = PR,

JP?-Q?

R, B

90° ﬁp
HAIYIA:

W
c

T 51 A am oo

s foua, =i v, 1 2 W P __ W .. Wsina

(R | |

sin90°  sin(90°+90°— ) B sin(90°+ o) " Sina coso

CDSE LT XY




wftwm, R _ Q ¥ _Q _w
sin(90°+a) sin(90°+90°—a) sin90° — sino 1
5. Q=W sino............ Gi) . 1L __1 __cosa 1

P* Q* W?sina W?3sin*a

cosa—1 —sina 11 1 1 P?-Q?

(&)

PQ
= =— - S N _ 5 W=—
W3sin®a  W?sin’ o W- w? Q* P?* PQ? \[PJ—QE
08. «=f6 ¥ I QT TN ST AN 72 7 T 9% Sl =g R wfew 3a | 1 St @ ¢,
4N t, T, 509 (NS ([, R:%gﬁltz |
AN T T, GF2 TTLRF AT &7 993 u @ &fFe /7 930 SR 4oF @ e |

2
2usin E—u)
o, t, = oS0 (i) @<= ¢, = Luzma, AUCORKL (i}
g g g
7 . . ‘ '
LHS=R _ U sin2o _ 2u51nn.2.2ucum =%.21181ﬂ0£.211 cosa _ 1 gt t,=RHS [t =]
g g g g
09. 7 &7 ERa 3fo vt 0 T S99 F90T AT GIBre 7 Soed @R G2 SHRBre 4 SR @ 4 [
T T© IR ST FI09 A0E7?
BRI
ST NIRRT Gt Y TFIIRE ETIFeTt S ST STl
7 0 Tc,
6 1 7c,
5 2 Tc;
4 3 oy
3 4 7c,
6 = 99
T O =99

10. «=f6 “fieg 310 =11 R 4 6 FE 3= g | S #4671 w2 51 e 99 @i | rerT AT e 1
DI I (O =4, I 210 o7 07a «iewia Wit Fo?
ARG P (FSF 9049 Ie7) =P (3T #A1q TS FT 8 F *1q 0O FeEt) + P (57 i1 20® St @ O A1 #leT)

— 3’3:3{551 + ixij.r_ =15+16=3—:l (AI'IS)
7. 9, 7e, 9, ) 63 63 63

11. 9 gfHe sifere Mo oo 787 K@M 0.5m @Feier 2s a2 @ 1.11ms™ | 38foq 7 w2
TG ST S, v = /A2 — x> =%\/A2—K1 =1.11= 2){;'14\/(0.5)2 —x’ = x=0.354m [Ans]

12. R @ 1600km Tweorm Faw TR R @@ F@ J@E A Safie T0= | Seiara offs 8 ol
wo? (M =6x10%kg, Ry =6.4x10°m, G =6.7x10""N-m%g?)

GM; [6.67x107" x6x10*
Re+h V6.4x10°+1600x10°

IEEEEER |2 | T

= 7072.84ms™ =25462.224kmh ™

I CIGACIE EIRETITH v=\/




13. 90 @Iy «ieT gt =e, @ofy, e ¢ TR AR (AT S | TS ST 8 F{iE I 792
ST QTR WiEs 27x10° £(27x10° @7 5%) .. Wediw a7 ¢ 27x10° +(27%10°

9% 5%)=2.84x10°Q a5 ww s 27x10° —(27x10° @7 5%)=2.57x10°Q
14. 0.44 foR A a3z 0.12 .7 Tow 9o oEa @Y 15 92T | Safbe e wefrs g fdy w9

—4 42
ST WIRT S, R = p—li?ﬂ p—Rf 15”";”;’:10 ) _ 3.85%10Qm [Ans]

15.% 30°C B=mwm a3 (.2 JLg"’K" witeifirs ©rof (R kg S 936 @/ 100°C THom 2kg oET A
T T T | Rt S 397
;47 R st 0°C @IS A, Q, =1x0.2x(0—30) =0.2(6-30)
/" 1™ T8, Q, =2x4200x(100—6) = 8400(100-6)
SR SR, 2 ot = IS et M, 0.2(0—30) =8400(100—6) 1, (6—30)=42000(100—6)
<, (6—30)=4200000-420006 3, 0=99.9983°C ~100°C [Ans.]
16. «=f0 Rrotmg oM afosans 1.5 | oo W a3 S SieEear) 50° @ Ieifes e afiva gaey
pfe =6 | rem @ efa o9
1

FAN: S S, p, sin50° =p, sinr = sinr=ﬁsi1150“ = sinr=0.51

I

-

|

17. 8x107°m I=ds AeEs @ v | 8x 1072 m IFNEs Sarws (ol I O ©oF 100 AT SiF (61t T4 |
SRS (one @MTST 240030, EIRT 996l 1.5x107°Wh (GIRe FIF (o4l 400 ¢ AN SR 2«

<409 2?7

-4
W:W-ﬁrﬁ, ¢=AB HT,B=E= 1-53’{1031
A #ax(8x107)

NI -2
Ho Bx2nr  0.746x2nx8x10 —1.2433A (Ans.)

)(IJ,I aT I= - 7
2mr N 2400x4nx107" x100

18. 25329 J9CT GFa TZHIAl TR 1.8 x 10 ms ™ @t 5ter 309%w #tH et GrEe | o TOT N

F9?
AT S, Lo =:-.=-15[,=vc]h—l"-;-=3u\ll—-(1'3""“,:122 =24
v2 C (3x10%)
Vo
. TERIBTAIEG IO 8= 25+24 =49 T=A |
19. @Y 9fesr=Ay @ e RwtE Jaew @9 60cm a3 o 0.3m @i e Te @ 35959 @ |
WTS ©IF (2 WATTE Jou oy TOZ ANS?
1 1 1 1 1 1 1 1

~ 1
AN WA G, —4—=— D —=——— 5 — = =0,
v u f u f v u 0.3 —0.6:>u O-2m

. 8 wta Paed e AT =0.6-0.2=0.4m (Ans)
20. @3S @ =eE TAE 400Hz | IS 4 @ 332ms™ ) F R 30 1 o e zeE @ e 20
TR W T FITI?

=0.746 Wbm™

TR, BAtate (brEseEa, B =

v 332

FOYE: S i, V=fAqR A=—="—=0.83
f 400

~.S=NAL=0.83x30=249m [Ans]

113




21. foe Attefam sras B 8 (3) IS 5 GTrel (F) @ item (o) Prefie afte
(%) I (8) STEEEftRRe (5) I39126
TiE: (F) Na,CO,. 10H,O0 () Ca(OCIH)Cl

OH CHO
05N NO> OH
(%) (%) <§>—(:0—CH3 (e) () ALLO,. 2H,0
NO»
22. ARG o 9 8
i) Cu+HNO, (i) — ii) @—N Cl+{O)-NH,—<—>
iii) (CH,CO0),Ca—2—> 1v) @ +CHCl, +NaOH —
NoCl
v) CaC,+H,0— Vi) &—ar
HCI

FargE: 1) Cu+4HNO, (1) - Cu(NO,), +2H,0+NO,

i) (O)- N,Cl+{O)-NH,—<—{(O)~N=N-{O)-NH, + HCl

iii) (CH,C0O0),Ca—2—CH, —CO - CH, + CaCO,

OH OH
CHO
1v) +CHCl, +3NaOH — +3NaCl + 2H,0

v) CaC, +2H,0 -—:'p-CEI—I2 + Ca(OH),
N2Cl

w)@ HC] @H\I [sBteri fRfern]

1kg B “resne wiofie HCl @ GIee F41 e AN 80 o Wiwe CO,, TR AeTm q1ea?
srargr: CaCO, +2HC1 — CaCl, + CO, +H,0

100gm (22.4L)
100gm BRI =eqt I 22.4L CO, B

-1000gm grRe emr A 221000y s 5241,cO, [Ans. 2241

100

Blézm SN

= oy
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24. G 2w o e Rftvaees wf sifage Raifie ze s @t 1000 Gas | 9959 7 R O

T SRt weiR¥E A
ST S e, ¢, = 2093 o 0.693 _0.693 _ 693510 sec”
p k Tt 1000
7
2.303 a 2.303 a 2.303 1
WHE, k = lo == = log— =3.32x10’sec (Ans.
t ga—x T ¥ k luga_x 6.93x107* gi (Ans.)
10
25. @G e a7 gufeor Rfvrt orans @ wraae fie |
SRR TR ¢ T 9T ST 967 |
NH> NH3
ﬂ@%a@—N*‘ENCl“-J-H @_NHZ HO) }@N=N—@—NHZ+HCI
TIRAT 8 T T SIS Afere F41 |

26. @ afTes pHEReR o 2.5 =@ 1 cm’ A @ afire Q3ugiee S s e <= |
YIS ST S, pH=—lng[H+]ﬂT, 2.5:—10g[H+]?|T, [H+]=10’2'5 =3.16x10 molL"
1L 2, 1000cm’ @ Z3mies s 3.16%10™ mol

- 1cm® ) L 316107 0 316107 mol
1000

wiE, 1 mol=6.02x10" & .. 3.16x10°mol=(6.02x10% x3.16x107°) & =1.9x10"°®
27. TR [T 8

3) fg s wigfe ................. |

) K,Cr,0, @30 ....ocvveeenens |

Q) &5 UK RAUEIACS C ECRET

¥) SOICiAEye Ferse 1200 JI°E ............ @ae 90T |

8) BT HYIT TAMIT eveereereniens |

137 L@ I P — qfTE T |

TAY: F) TRBAPIT <) TES

o) T Ao TAT G @ CTIFSAT «{BIFmnT Biebias a3

¥) GCEH 8) GCST  B) G290

28. fa=te @rtef sreaEe & |

%) fACBIme %) @CEifiE e ) TG G

sryi: ©) — OH %) —COOH ) —CHO

{1l T, FAT @, I & 4R 0o et ACF? SITAd W 8 FLF© 74 |

” SEH: AT T, FHEN S SN A0 AT |
L TFS
oAIpT el (DI BTG CH,COOC,H,,
el 13 UMD CH,COOCH,,
S faCoize fRSoMmmED . C,H,COOC H,
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30. «=fo W sy 2WmE (C,H.OH) ¢ fi@s (CH,OH) @« ==t JAFw 6kPas 11.8kPa | @
fAfae oo 60g 2FE 3R 40g e ey 3o S Bae tedt 3|t T JIR (NG I 51 o7

60
FATYIT: FICT AR e SRR X 11,01 = 604540 =0.51
+
46 32

o R cer st Xy o =1-0.51=0.49

RQCETT SREIE A5 Py o = POoymon x X .oy =6%0.51=3.06kPa
R SR A1 BT Py, o = PPemon X Xy 0y =11.8%0.49 =5.78 kPa
;. B0 (G sty P=3.06+5.78=8.84 kPa [Ans.]

31. Make sentences with the following idioms & phrases :
a) Break the ice (I% *=1tAT) : Easily he can break the ice.
b) At one's disposal (ST g7 WA F4AT JIRITET &+ 1w I @5 FR) : This duty is now at his disposal.
c) All ears (*rSI= AL : I am all ears to his advice.
d) Not in the least (9¥5¢ ) : I am not in the least hungry.
e) Man of letters (a9 I7&) : He is a man of letters.
32. Correct the following sentecnes:

a) The matter was informed to him. Ans: The matter was informed by him.
b) He spoke a lie. Ans: He told a lie.

c¢) He caught me in the neck. Ans: He caught me by the neck.

d) The English is easy to learn. Ans: English 1s easy to leamn.

e) Honesty is more superior than riches.  Ans: Honesty is superior to riches.

33. Translate into English:
a) oI 3T @3 FeTcer ofE zrs Ao Ans: Would that I could be admitted into this college.!

b) F1FEAr TAE Wit 2419 WA | Ans: Cowards die many times before their real death.
c) O & ey g §_Aa “arew? Ans: Have you ever seen the defeat of life?

d) %1 (e oo oo 38 o Ans: It has been drizzling since morning.

e) TIRE! S SIRIAT QI TFfe FA0@ A« | Ans: Those can not prosper 1in life who are idle.

34. Add tag questions to the following :
a) Let us play chess — ? [ shall we ]
b) I am a regular student — ? [ aren't I ]
c) Nobody helped me — ? [ did they? ]
d) Open the door - ? [ won't you ]
e) We shall win —? [ shan't we ]




